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QUESTION 1
Which three of these are true statements about TLS? (Choose three.)
A. It can be used to secure SIP.

B. It allows for client authentication via certificates.

C. If a third-party (man-in-the-middle) observes the entire handshake between client and server, the third-party can

decrypt the encrypted data that passes between them.
D. It is a secure protocol encapsulated within SSL.

E. It is a more recent version of SSL.

F. It cannot be used for HTTPS.

Correct Answer: ABE

QUESTION 2

Which two statements about the storm control implementation on the switch are true? (Choose two.)

A. Traffic storm level is the percentage of total available bandwidth of the port.
B. Traffic storm level is the rate at which layer 3 traffic is received on the port.
C. Traffic storm control monitors only the broadcast traffic.

D. Traffic storm control monitors the broadcast, multicast, and unicast traffic.
E. Traffic storm level is the rate at which layer 2 traffic is received on the port.
F. A Lower storm control level means more traffic is allowed to pass through.

Correct Answer:. AD

QUESTION 3

Which three statements about VRF-Aware Firewall are true? (Choose three)
A. It can run as more than one instance

B. It enables service providers to implement firewall on PE devices.

C. It can generate syslog message that are visible only to individual VPNs
D. It can support VPN network with overlapping address range without NAT

E. It supports both global and per-VRF commands and DoS parameters
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F. It enables service providers to deploy firewall on customer device.

Correct Answer: ABC

QUESTION 4

Which two statements about SSL VPN smart tunnels on a Cisco 10S device are true? (Choose two.)
A. They are incompatible with split tunneling.

B. They do not support FTP.

C. They are incompatible with MAPI proxy.

D. They support private socket libraries.

E. They can be started in more than one Web browser at the same time.

Correct Answer: AC

Restrictions for Cisco I0S SSL VPN Smart Tunnels Support Smart tunnels do not support split tunneling, Cisco Secure

Desktop, private socket libraries, and MAPI proxy. Smart tunnels must not be started in two different web browsers
simultaneously. Applications only with the winsock dll library such as Remote Desktop, VNCviewer, Outlook Express,
Outlook Web Access (OWA), Secure Shell (SSH) using Putty, Telnet, FTP, and others are supported. Reference:
http://www.cisco.com/c/en/us/td/docs/ios- xml/ios/sec_conn_sslvpn/configuration/15-mt/sec-conn-sslvpn-15-mt-

book/sec-conn- sslvpn-smart-tunnels- support.html

QUESTION 5

What is the maximum number of hops from the device that generated the given output to its BGP neighbor at 4.4.4.47?

Refer to the exhibit.
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Correct Answer: A

Explanation: same as example:
https://supportforums.cisco.com/document/86776/securing-ebgp-sessions-ttl-security- feature

the missing part from output is (so that is the answer) External BGP neighbor may be up to 3 hops away.
command applied on that appliance is:

neighbor 4.4.4.4 ttl-security hops 3

This feature is configured using neighbor ttl-security hops BGP configuration command. The TTL value is calculated by
the router from the configured hop counti.e. TTL = 255 - (hop count).

This feature has few limitations

On enabling neighbor ttl-security feature, neighbor ebgp-multihop is not required.
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The feature is only for EBGP and not IBGP.

4.4.4.4 is originating BGP packets with a TTL of 255, and R expects the packets it receives from 4.4.4.4 to have at least
252 (as in BGP configuration of R has neighbor 4.4.4.4 ttl- security hops 3, so a TTL value 255-3=252).

The BGP will establish and maintain the session only if the TTL value in the IP packet is equal to or greater than the
TTL value configured for the peer.

350-018 PDF Dumps 350-018 Practice Test 350-018 Braindumps

350-018 PDF Dumps | 350-018 Practice Test | 350-018 Braindumps 5/6


https://www.passapply.com/350-018.html
https://www.passapply.com/350-018.html
https://www.passapply.com/350-018.html
https://www.passapply.com/350-018.html
https://www.passapply.com/350-018.html
https://www.passapply.com/350-018.html

VCE & PDF https://www.passapply.com/350-018.html
2021 Latest passapply 350-018 PDF and VCE dumps Download
PassApply.com

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success

100% Money Back Guarantee

365 Days Free Update

Instant Download After Purchase

24x7 Customer Support

Average 99.9% Success Rate

More than 800,000 Satisfied Customers Worldwide

Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.passapply.com/allproducts

Need Help

Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Submit A Ticket

One Year Free Update Money Back Guarantee Security & Privacy

Free update is available within One To ensure that you are spending on We respect customer privacy. We
Year after your purchase. After One quality products, we provide 100% use McAfee's security service to
Year, you will get 50% discounts for money back guarantee for 30 days provide you with utmost security for

updating. And we are proud to from the date of purchase. your personal information & peace
boast a 24/7 efficient Customer of mind.

Support system via Email.

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.
Copyright © passapply, All Rights Reserved.

350-018 PDF Dumps | 350-018 Practice Test | 350-018 Braindumps 6/6


https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.passapply.com/350-018.html
https://www.passapply.com/350-018.html
https://www.passapply.com/350-018.html

